exp (yt) = exp (cary) + exp (1)
1—a)b(1—n)exp((—Ct) et+ecuy —hmy) =(1—0b) exp ((—lt))
ab (1—7) (1—0) exp(y: + (—=Ct) e+ cary (e — 1) — hagy) = (1 —b) exp ((—lt))

Bexp(e (—Ciy1)) (@ (1 —6m) exp((e—1) cprep1) + (1 —a) nexp (ecuirr — kug)) = aX exp((—Ct) e+ cnry (e — 1))
Bexp (e (—Cyt1)+ (e — 1) carpqr) (14 exp (reqr) (1 —7%) + 7% 6 — Spr) = X exp ((—Ct) e+ cary (e — 1))
0 exp (ye — kare_1) = exp (1)

(1 —0) exp (yt — hary) = exp (we)
exp (yr) = exp (O knry—1 + (1= 0) (hary + 2m4))
exp (Cy) = exp(epsa+ (1 —a) cay)
exp (It) = 1 —exp (hu¢) — exp (hary)
exp (cry) = exp (nkai—1 + (1= n) (hm, +2m,))
exp (@ary) = X exp (kary) — (1= 8ar) exp (kare—1)
exp (zrry) = A exp (kry) — (1= 651) exp (kpry—1)
exp (1) = exp (Tar¢) + exp (Try)
exp (ki) = exp (knry) + exp (krr¢)
exp (Ty) = 11, exp (hasy +we) + 7 exp (karp_q +7¢) — 7% Sar exp (kary_1)

ZMre = PM M1+ €My

ZHt = PH ZHt—1 T €Ht
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